wiEx RRERESFERNEETE

% # K - Bk By ¥ B8 B ff & 8 =
EEIEE 158, 995, 670
MEIEE 17,218,538 + 47,419,904 64, 638, 442
HERFZE GDH 4,092,230 + 12,115,015 + 1,011,293 17,218,538
#BREE (WL 4,092, 230
HBERRE (X) 147,205,540 x 8.23% ((6.21% x 1.3) x 1.02) 12,115,015
BERERER 142,435,670 x 0.71% 1,011,293
RiGEEE 164,424,078 x 28.84% ((20.00% x 1.4) x 1.03) 47,419, 904
TR 158,995, 670 + 64, 638, 442 223,634, 112
—REEEE 211,843,982 x 15.47% (15.47% x 1.00) — 1,113 32,771,151
ZHRITE 211,843,982 x 0.04% 84,737
TEAf4E 223,634,112 + 32,771,151 + 84,737 256, 490, 000
HEREHENE 256, 490,000 x 10. 00% 25, 649, 000
EEIZE 256, 490,000 + 25, 649, 000 282, 139, 000




BERNRRK ERERT S ERNEETE

4 [ K - KA B #H = B {h * B W OE
EEISE 158, 995, 670
[ATEEERR) ABERHEX23 : 30~05:30 (6.0 12,698, 830
h)

WERET 5,238, 068
SETURLT 666, 900
B Edl 666, 900
1 EhEERR LB FAIZF7ILE t=15emLLTF 570. 00 1,170 666, 900

m
BETIAIT 1,951,180
B E A 1,951,180
2 ERmEtH AR t=9. Ocm 1,810.00 1,078. 00 1,951,180

m2
FAMHEWRNE 2,619,988
A ERR 1,062, 988
3 FAMEMRO) BEEIR (UIENEK)  HiF~0515 L=14. 3km 1.00 40, 000. 00 40, 000

[a
4 FHEMER (2) TAI7MMEIEIE  IRiG~A45 15 L=25.8km DIDEH Y 163. 00 6, 276. 00 1,022, 988

m3
FEEMNE 1,557, 000
5 FEEHMWIE(1) BEFR (LIEREK) 1.00 25, 000. 00 25, 000

m3
6 FEEMWIE(2) TAI77IL EIE 383.00 4,000. 00 1,532, 000

t

EEGET 7,236,676
FAI7ILMGHET 7,236,676




BERRE ERERTE R ERREETE
% L IR - WAKTiE By B = il oo B LS
RIE (ZTH) 7,236, 676
1 RB HEODRBFHET X (20) t=9. 0cm 1,810.00 3,837.00 6,944, 970
m2
8§ #woa—+t PKM-T-Q (B%z%) 0.3L/m 1,810.00 102. 60 185, 706
m2
9 FlatEmiat FRAI7IVET 4=y ¥ k4 —)LE 3.0~8.5m 1.00 106, 000. 00 106, 000
=
EHT 224,086
RATIHZHT 224,086
<—% 5T 224,086
10 =—%>51) FERERES EEX. HE. = W=30cm 4.00 1,753.00 7,012
m2
n<—x27Q2) FEREFLEMEE HEBEX. ER. =&  W=30cm 8.00 1,753.00 14,024
m2
12 3—%>4503) FEREREZE ®EEX. XF. 88 14.00 3,032. 00 42, 448
m2
1BI—F254 FERERESR =EX. §2. K6 52.00 2,796. 00 145, 392
m2
14 3—%24505) FERELHMERERNEZE BEX. 2R, E26 6.00 2,535. 00 15,210
W=15cm m2
[AZEER] ZOthFEREHE00 : 00~05 : 30 3,271,998
(5.5h)
SHEMET 3,271,998
SERELT 212,330
SHEE AR U B 212,330
15 SHEERR T FRI7I b+ t=16emA T 170. 00 1,249 212, 330
m

BRELIEIT

499, 840




BERRE ERERTE R ERREETE
% L IR - WAKTiE By = il oo B LS
ERELIEI (225) 499, 840
16 ERELIAI AHE t=9. Ocm 440. 00 1,136. 00 499, 840
m2
F A AEHR LR 691, 960
B 298, 960
17 FEAEHHEWE (1) BEFR (UEREK)  WHE~W515 L=14. 3km 1.00 40, 000. 00 40, 000
1
18 FEAHEME (2) TAITVMIEIE BWZE~05 15 L=25. 8km DIDF Y 39.00 6, 640. 00 258, 960
m3
F M NI 393, 000
19 FEAEHLE Q) BRERE (FIEEK) 1.00 25, 000. 00 25, 000
m3
20 FAMNIE (2) TR 7 I FEIE 92.00 4, 000. 00 368, 000
t
FRI7ILNHET 1,867, 868
RE (ZTH) 1,867, 868
21 RE HEIRBHRET RO (20) t=9.0cm 440. 00 4,022. 00 1,769, 680
m2
22 By a—+t PKM-T-Q (BXZ%) 0.3L/m 440. 00 102.70 45,188
m2
23 FiutEmias FRIZ7IET4 vy kA —)LE 3.0~8. 5m 1.00 53, 000. 00 53, 000
=
(GERHER (H1~WR) ] Z D HLFHEERHRER00 : 00~ 42,587,195
05:30 (5.5h)
SHERMET 17, 356, 007
SERELT 2,085, 830
% bR L) B 2,085, 830




BERNRE

RRERESFERNEETE

£ ] g - KT B H =2 i £ B i
24 EHERRLIMET FAIZ7ILE t=15emA T 1,670.00 1,249 2,085, 830
m
BREUIEIT 6, 861, 440
R E LAl 6, 861, 440
25 BRELIHI A{K  t=9.0cm 6, 040. 00 1,136. 00 6, 861, 440
m2
FEMERHNE 8,408, 737
FEMERR 3,275, 737
26 FEMER (1) BEFRE (EK)  BRE~L51H5 L=12. 4k 1.00 40, 000. 00 40, 000
[
27 FAEMHEW (2) TAITVMIEIE BRZE~05 15 L=23. 9km DIDF Y 543.00 5,959. 00 3,235,737
m3
FEEMNE 5,133, 000
28 FAEMUNE (1) BEEIR (UIEEK) 1.00 25, 000. 00 25, 000
m3
29 FEAEMUNE (2) TR I 7IL UEIB 1,277.00 4,000. 00 5,108, 000
t
EEMET 25,231,188
FAI7ILMGET 25,231,188
=E (ZH) 25,231,188
30 &E HBEOIRBHRET A2 (20) t=9.0cm 6, 040. 00 4,022. 00 24,292, 880
m2
3N 2yya—+k PKM-T-Q (B%E%) 0.3L/mi 6, 040. 00 102.70 620, 308
m2
32 Fimtsmias FRAI7ZIET 4=y v kA4 —JLE 3.0~8.5m 1.00 318, 000. 00 318, 000
=
[CEEERE (C1~C2fE) ] CFEEERMZKOT : 00~05 : 22,774,510

30 (4.5h)




BERNRE

RRERESFERNEETE

4 5 g - KT B H =2 i £ B HE
HERET 10, 369, 390
HEELT 1, 460, 000
SRR 1, 460, 000
33 EHEMRUIET @EIP FRXI77ILE t=15emBL T 1,000. 00 1, 460 1, 460, 000
m
HEIEIT 4,411, 800
ERE LA 4,411, 800
34 ERmELIAI Ak t=8.0cm 3,420.00 1,290. 00 4,411, 800
m2
FEMERHNE 4, 497, 590
FEMER 1,904, 590
35 FEMEM (1) BEFRE (MIEREK)  BRE~515 L=13. Okm 1.00 40, 000. 00 40, 000
[a
36 FEMEM (2) TAITVMIEIE BRZE~05 15 L=24. 5km DIDF Y 273.00 6, 830. 00 1, 864, 590
m3
FEME 2,593, 000
37 FEMUIE(Q) BEEIR (UIEEK) 1.00 25, 000. 00 25, 000
m3
38 FEMUIE (2) TR 7L LEIB 642. 00 4,000. 00 2,568, 000
t
THEGET 12, 405, 120
TFRARI7ILMHET 12,405, 120
=B (X% 12, 405, 120
39 kB (Zi#) HEOIRBHRET A2 (20) t=8.0cm 3, 420.00 3,462. 14 11, 840, 518
m2




BERNRRK ERERT S ERNEETE

4 ] g - KT B H =2 B {f ® ¥ HE

40 2y a—+ PKM-T-Q (B%E%) 0.3L/mi 3,420.00 103.10 352, 602

m2
41 FlEwmER FRAI7ZIET 4=y v k4 —JLE 3.0~8.5m 1.00 212, 000. 00 212, 000

=+
[C10:5EER] CiAEMHMEKO00 : 30~06 : 00 (5.5h 35, 587, 637

)

BEYRET 13, 886, 170
HETURLT 1,661,170
B 1,661,170
42 HEERR BT FAIZ7ILE t=15emA T 1,330.00 1,249 1,661,170

m
BEUIAIT 5,043, 840
BRETIAI (=) 5,043, 840
43 ERmELIA| A& t=10. 0cm 4, 440. 00 1,136. 00 5,043, 840

m2
FHEMEHNE 7,181,160
FAEMERR 2,988, 160
44 FEAERIER () BEER (UIENEK)  HiF~0535 L=15. 8km 1.00 40, 000. 00 40, 000

[
45 FEERERR (2) TA7PVMDEIE  RIG~0 515 L=27. 3km DIDH Y 444.00 6, 640. 00 2,948,160

m3
FEEMNE 4,193, 000
46 FEHEMILIE (1) BEEIR (UIEEK) 1.00 25, 000. 00 25, 000

m3
47 FEEMILIE (2) TR 7IL UEIB 1,042.00 4,000. 00 4,168, 000

t

EEGET 21, 469, 108




BERRE ERERTE R ERREETE
4 L IR - WAKTiE By B = il oo B HE
TFRI7ILGHET 21,469, 108
RIE (ZTH) 21, 469, 108
48 R[E (%) HEIDRFHET7 X2 (20) t=10.0cm 4, 440. 00 4,673.00 20, 748. 120
m2
49 #yHpa—+t PKM-T-Q (B%z%) 0.3L/m 4, 440. 00 102. 70 455, 988
m2
50 FiEtimias FAIF7ZIV T4 =y v RA—ILE 3.0~8 5m 1.00 265, 000. 00 265, 000
=
EHT 232, 359
RATIHIZRT 232, 359
T—FU45T 232, 359
51 =—%>45(1) FERELEMES ®HEBX. B, #HE. W=30cm 4.00 1,847.00 7,388
m2
52 3—%>245(2) FEREFELEMEE HEBEX. ER. =&, W=30cm 9. 00 1,847.00 16, 623
m2
53 v—x>45 (@) FEREFELMEENER ®BEX. XF. 86 14.00 3,272.00 45, 808
m2
54 —%2454) FEREFELHAERERNEZSE BEX. 5. f 50. 00 2,979. 00 148, 950
m2
55 T —*% >4 (5) FERELHMEERNEZE BEX. =R, E26 5.00 2,718.00 13, 590
W=15cm m2
[C1055E &) CEE&E X O01 : 00~05: 30 (4.5 11,513, 989
h)
SHERET 5,261,590
SERELT 744, 600
SHEE IR DI B 744, 600
56 &HLE R LB FAIZ7I L t=15emLF 510. 00 1, 460 744, 600




BERNRRK ERERT S ERNEETE

4 ] I - KT & B #H = B fh ® ¥ HE

BETIAIT 1,922,100
B E A 1,922,100
57 HmELIHI K& t=10. 0cm 1, 490. 00 1,290. 00 1,922,100

m2
FEMERHNE 2,594, 890
A ERR 1,173, 890
58 FHEMHEH (1) BEEIR (UIENEK)  HiF~0535 L=15. 8km 1.00 40, 000. 00 40, 000

[
59 FEA4HHEWR (2) TA7PVMDEIE  RIG~0 515 L=27. 3km DIDH Y 149. 00 7,610.00 1,133, 890

m3
FEEMNE 1,421, 000
60 FEAMLE (1) BEFR (LIEREK) 1.00 25, 000. 00 25, 000

m3
61 FAEMUNE (2) TR 7IL EIB 349.00 4,000. 00 1, 396, 000

t

EHEGET 6, 252, 399
FAI7ILMGHET 6, 252, 399
=E (ZH) 6, 252, 399
62 =B HBEDRBHET X2 (20) t=10.0cm 1, 490. 00 4,022. 00 5,992, 780

m2
63 2voa—+hk PKM-T-Q (B%%%) 0.3L/m 1, 490. 00 103.10 153, 619

m2
64 Fimtsmias FRAI7ZIET 4=y v kA4 —JLE 3.0~8.5m 1.00 106, 000. 00 106, 000

=
[E1055E K] CEE&E X 01 : 00~05: 30 (4.5 5,003, 805

h)

WERET 2,269, 490




BERRE EREREAREBUEETE
£ 5 g - KT B 2 fili £ B HE
SETURLT 365, 000
B 365, 000
65 EHEERRLIMT FAIZ7ILE t=15emLLTF 250. 00 1,460 365, 000
m
BEIEIT 838, 500
B E Al 838, 500
66 FRELIHI A{K  t=9.0cm 650. 00 1,290. 00 838, 500
m2
FHAMERNE 1,065, 990
FAEMHERR 488, 990
67 FEEMEM (1) BEERE (DIEREK)  BRE~M515 L=16. Okm 1.00 40, 000. 00 40, 000
[a
68 FEA4HHEW (2) TA7PVMDEIE  RIG~05 15 L=27. 5km DIDH Y 59.00 7,610.00 448, 990
m3
FEEMNE 5717, 000
69 FEAMUNE (1) BEFR (LIEREK) 1.00 25, 000. 00 25, 000
m3
70 FEAEMNE (2) T A7 7L EIE 138.00 4,000. 00 552, 000
t
EHEGET 2,734,315
FARAI7ILMGHET 2,734,315
=B (ZEH) 2,134,315
n xE HEOIRBHRET A2 (20) t=9.0cm 650. 00 4,022. 00 2,614, 300
m2
12 By a—+hk PKM-T-Q (B%%%) 0.3L/m 650. 00 103.10 67,015
m2




BERNRRK ERERT S ERNEETE

4 5 K - BKTiE B #H = B £ B HE

13 Flmtsmigs FRAI7IET 4=y ¥ kA4 —)LE 3.0~8.5m 1.00 53, 000. 00 53, 000

=%
[E1055&ER] % DhiFER#X00 : 00~05 : 30 5,763,113

(5.5h)

HERET 2,451, 600
HEELT 349, 720
Bl 349, 720
14 EHEERRUIET FRXI77ILE t=15emPL T 280. 00 1,249 349, 720

m
HEIEIT 897, 440
ERE A 897, 440
75 ERELAI Ak t=9. 0cm 790. 00 1,136.00 897, 440

m2
FEMERHNE 1, 204, 440
FEMER 511, 440
16 FEERER (1) BEERE (DIEREK) BRE~M515 L=16. Okm 1.00 40, 000. 00 40, 000

[a
1T FEERER (2) TAITVMIEIE BRZE~N5 15 L=27. 5km DIDF Y 71.00 6, 640. 00 471, 440

m3
FEMNE 693, 000
78 FEMUMIE () BEEIR (UIEEK) 1.00 25, 000. 00 25,000

m3
19 FEMUNIE (2) T A7 7L LEIB 167. 00 4,000. 00 668, 000

t
THEGET 3,311,513
TFRARI7ILLGHET 3,311,513

10




BEARE ERERTERERREETE
£ 5 R - BARTR B 2 1 & # HE

== (ZH) 3,311,513

80 =RE HEINRFHET7 X2 (20) t=9.0cm 790. 00 4,022.00 3,177,380
m2

81 2wy a—+h PKM-T-Q (B%%%) 0.3L/m 790. 00 102.70 81,133
m2

82 Fimtkmigst TFAIF7FILETa =y ¥ R4 —)LE 3.0~8.5m 1.00 53, 000. 00 53, 000
=

[Brsk#&) 9 : 00~18:00 (8.0h) 19, 794, 593

SHBEAKFIRESR T 13, 289, 801

¥+ T 765, 182

FRiEY 130, 368

83 ERIEY (1) MRERXTET AfElE 140. 00 254.6 35, 644
m3

84 ERIEY (2) MREKX TP T BEHE 170. 00 557.2 94,724
m3

BRL 231,734

85 R L (1) F&/MERIE 4ml £ 4.00 533.6 2,134
m3

86 R L (2 RAERE ImLl E4nk i 90. 00 2,155 193, 950
m3

87 R L (3) BRIEBERE 1mkiH 10. 00 3,565 35, 650
m3

FALERR-SL 403, 080

88 F4 1Bk BHif~tWREZH L=9. 3km DIDH Y 200. 00 1,883 376, 600
m3

89 it BRIz AthTONIE 200. 00 132.4 26, 480
m3

BERELT 197, 543

11




BERNRRK ERERT S ERNEETE

4 ] IR - WAKTiE By B = B £ 5 HE
BREREL 197, 543
90 EXREREEL MIMEE 4ml Lt t=100cm 70. 00 864.9 60, 543
m3
91 BRERMHE BAEW 100. 00 1,370 137, 000
m3
HET 927,076
HEEERA 75,276
92 EmwA RC-40 t=20cm 51.00 1,476 75,276
m2
HEa o )—h 851, 800
93 E@EarHyy—+ 21-8-20(25)N 14.00 31,700 443, 800
m3
94 $kEn T (TG E ] —he#E&EY SD345 D13 1.00 190, 600. 00 190, 600
t
95 Hip% A BEEIEY 20.00 10, 870 2117, 400
m2
TLEx vy X REFAET 11, 400, 000
TLEx vy X REFAET 11, 400, 000
96 FL ¥+ X FEPKEE BARKIBEVEFARKEIEZSD 1.00 11, 400, 000. 00 11, 400, 000
S
RE&T 6, 504, 792
TE-REHUIT 5,940, 808
HHEIR 5,940, 808
97 AT ONIETIC K 5 SARIRITIAA  SHRARIME L=14.Om #EHET (1EFT/4) Nmax <50 92. 00 43, 410. 00 3,993,720
®
98 N AT ANAETIC K B HRMREIIRE  HHRIRIIE! L=14. Om 92. 00 7,724.00 710, 608
®

12




BERRE EREREAREBUEETE
£ R R - R B 2 i £ E wm =
99 fAXIRER (EEMEIR) £ 2% A I Y 92. 00 13, 440. 00 1,236, 480
"
T3 REHUIT 563, 984
YR-EER L 563, 984
100 tNR-ERR LRE-HE 7.30 58, 420. 00 426, 466
t
101 WBHEH H-300% 300 x 10 x 15, H-350x 350 % 12% 19 5. 80 23,710. 00 137,518
t
HEBEREE FEL) 4,092, 230
HiBREE 4,092, 230
HEBREE 4,092, 230
B E 2,551, 880
BERERERE 381, 000
102 EMMEEIEIC KL 5EHK (1) BWEmtiEg so—>=K 2. Omfk EfkEER 2.00 98, 200. 00 196, 400
L=22.5km (Fi&) N
103 EVMBEEIEIZ & 58 (2) FARAI7ZILET 4 =S viRA— LB Bk IR 2.00 92, 300. 00 184, 600
L=22.5km (H &) N
ERSMWMOBEELE 1, 262, 000
104 EREEMM D ARHA S EE NA TaNUIHITH F1E 1.00 1,262, 000. 00 1,262, 000
[
REEHEWRE 908, 880
105 {REEHH:EHE (1) fHRMRIE 9247 118 EMkEEE L=10. 3km 77. 00 9, 320. 00 717, 640
t
106 {RE%HIER (2) ILBE#F 7.00 9, 320. 00 65, 240
t
107 {RE&#FEA A ERE L& (1) fHRIRIE 924K 77.00 1, 500. 00 115, 500

13




BERNRRK ERERT S ERNEETE
& # 1B - Ptk By ! B %8 =

108 (REEHTEAHERE LE (2) Lz H 7.00 1,500. 00 10, 500
t

TEH 1, 540, 350

HEEE & 23:30~05:30 (6. Oh) 141, 490

109 7RMEEREA (1) SEE 1,000w 64T 2t RS v s 1.00 124, 600. 00 124, 600
=

110 7ZREEERA (2) ek 400w 24T 1.00 16, 890. 00 16, 890
=

HEEE & 00:00~05:30 (5. 5h) 525, 840

111 RREEREA (3) WSEE 1,000w 64T 2t RS v s 1.00 465, 100. 00 465, 100
Y

112 7ZREEEEA (4) ek 400w 24T 1.00 60, 740. 00 60, 740
%

HEEE & 00:30~06:00 (5. 5h) 307, 320

113 RMEEREA (5) WSEE 1,000w 64T 2t RS v s 1.00 271, 700. 00 271,700
=

114 7ZREEEEA (6) ek 400w 24T 1.00 35, 620. 00 35,620
=

HEEE & 01:00~05:30 (4. 5h) 565, 700

115 RMEEEEA (7) SEE 1,000w 64T 2t RS vy 1.00 511, 300. 00 511, 300
=

116 7ZREEERA (8) ek 400w 24T 1.00 54, 400. 00 54, 400
=

14






